ZCA 110(B) 
Calculus and Linear Algebra
Semester I, Sessi 2007/08
QUIZ 7 (13 Sept 2007)

Total =   marks
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No. Kad Matriks:

Consider the folium of Descartes described by the equation
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. Assuming x > 0, y > 0, find the point P(x0,y0) where the normal to the curve at that point is vertical.
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Solution
Thomas’ pg. 208, Example 4 (modified). 
[image: image7.emf]
A vertical normal is equivalent to a horizontal tangent. Namely, we need to find a point where the derivative to the folium is zero. 
The slope to a point tangent to the curve is obtained via
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Set dy/dx = 0 for the horizontal tangent line cutting through P(x0,y0), we have y0=x02/3. Since P(x0,y0) is lying on the folium, we can use    to find what x0 and y0 are. Inserting y0=x02/3 into 
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, we find, for x0 > 0, y0 > 0, 
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Hence, at
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, the normal is vertical. 
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